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SSC JE 2006
(Civil Engineering)

2.(a) Give a list on preventive measures of water logging and explain any two of
them in detail.

2.(b) A saturated soil stratum 5m thick lie's above an impervious stratum and below
a previous stratum. It has a compression index of 0.25 and coefficient of permeability
of 3.2X10™cm/sec. It void ratio at the stress of 1.5kg/cm2 is 1.9 computes

i) Change in void ratio due to an increase of stress to 2kg/cmz2.

ii) Settlement of soil strata due to above increase in stress.

iii) Time require for 50% consolidation and time factor for 50% conselidation may be
assumed to be 0.2 20 Marks

2.(b) 5 m HIeT I HaT TR T 3AUIRT TR & FW AR YIWER & = AT B
ST YUTe YaHidh 0.25 § MR URITHCT T[0T 3.2X105 cmisec g1 1.5kg/cm2 &
gfded R 91 Rfad 3uTd 1.9 81 TUMT Hifoy)
(i) U & TGHR 2 11¥/0T B ST & HRYL NG U1 § gRad—
(i) Ufdea & Iudad gfg & HRUT G&T ¥R &1 fHued
(i) 50% &= & fo1Q 3fUferd THE, 50% Ta-4 & g 3afe g 0.2 | forar
S| 20 Marks

3.(a) Time taken for construetion of a building above ground level was from April
2004 to September 2005. In September 2008, the average settlement was found to
be 6cm. Estimate the settlement in January 2010 if it was known that ultimate
settlement will be 15cm. 20 Marks

3.(a) YR Y FWRUH Yo & AT F 30 2004 F RIwaR 2005 I HT AT T
Rarer 2008 H3iTd fAve 6 I urm TaT| et 2010 § AuEH BT 3dHe BT
gfe gg fafeas! for sifam e 15 It g 20 Marks



